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Umm Omarah Girls' School - Cycle 3

Chemistry Exam- 2024\2025 year 12 Advanced

1-There are millions of different organic compounds, because:

A. Carbon has 4 valence electrons that enable it to make various covalent bonds

B. Carbon atoms can make bonds with other elements such as S, O and N.

C. Carbon atoms could create branched, unbranched chains and cyclic and
complex structures.

D. All of the above.

2.

.................... e Lol A0aS Sl Gaafll 330 56S e

When carbon atom forms chemical compounds, it is
often .

Sy A 4 Al [
Loses 4 electrons

Sl 4 WSS ||
Gains 4 electrons

Galdlly 458 I
Forms 4 covalent bonds

S USEI IR ENON - B |
Forms single, double, and triple bonds

A-lll only B-1 and IlI C-lll and IV D-Il and IV




3-Which of the following is true regarding methane models and the
information they give?

£ -n oy (Faseall )3 sl andd : .
l"L—.l v.lh L._,IIJ s "3...;...]_ lkz.i_,ﬂ
The information they give model(Formula) Model(Formula)
cialy U2 ecgind) e . .
- Ehall clls rigad
Demonstrates the geometry of the ~ = e
The space—filling 1
molecule clearly
model
Demonstrates the geometry of the The ball-and- Gg S 2
molecule clearly stick model
' Aslal dasall H
gy e eiedl ade gie L Auadly 2l 5ppa el ) N i
Gives a more realistic picture of what a molecule A structural H- (-I*‘ —H 3
would look like If you could see it formula H
265 Y gl o giall B ol alall Gasal) pglad
Aoy bl DS Jusiml Al dauall
Shows the general arrangement of atoms Molecular formula CH 4
in the molecule but not the exact, three— 4
dimensional geometry
A)1 B)2 C)3 D)4
4- Which of the following is the space filling model?
1
|
C CH4N;O
H,N~" = NH,




Bromine was added to two test tubes containing hydrocarbons,

5
and the result of the addition was as shown in the figure below. H + H — H
Which of the following statements is correct? A . rc';::me
a. hydrocarbon A is unsaturated while hydrocarbon B is saturated'
b. both hydrocarbon A and hydrocarbon B are saturated H + H mh— H
¢. hydrocarbon A is saturated while hydrocarbon B is unsaturated o e

d. both hydrocarbon A and hydrocarbon B are unsaturated

Q 0 T O

CH:CH:CH:CH3: CH;CH=CHCH:

|
CH:C=CCHCH;

A) 3 only
B)3and4
C) 2 only
D)2and 3




7- Fractions of the crude oil are separated in
a fractionating tower shown in the figure below.

Which of the following slatements is incorrect?

The hydrocarbons with much lower boiling points Laalaasl AU llall cilyyn <l cliga S gl iliSH
A and condensed on the bottom plates L Sl e

The hydrocarbons with larger carbon chains Sl 05)SI Jedhee O3 Ciliga Sy gl ST
B

condense on the bottom of the tower o) el ve

The hydrocarbons with smaller carbon chains ) (g)Sh LDl il iliga)Sy pasgl) R
C

condense at the top of the tower e el xic
D The hydrocarbons with high boiling points are daiipall Gllad) Sila o 1D Cilign S pangl) RS

condensed on the bottom plates Al claglll e

A B C D

8- Which compound has the highest boiling point?

A) Methane
B) propane
C) ethane
D) butane

9- What is the molecular formula of an alkane containing 11 carbon atoms?

A) C11H2
B) C11H2s
C) C11H24
D) C11H26




10-

da. Cl]}((?]lz)'!(\"j
b. CH3(CH.)sCH3
¢. CH3(CH:)sCH:;

d. CH3(CH:)sCH3

) Which of the following formulas represent heptane?

Q 0 T o

Whatis the name of the following alkane
Using IUPAC rules?

A— 2.2 3-trimethyl—4.6 — diethyl heptane
B — 4.6- diethyl— 2.2 .3 — trimethyl heptane
C — 3.6,7,7-tetramethyl- 5—ethyl octane

D - 4 —ethyl-2,2.3,6- tetramethyl octane

CH3—$—CH3
CH,

CH,—CH,
| |
CH,—CH—CH—CH,—CH—CH,

ol @ aladiily 40Ul At dapall g3 HSIY) ol L

¢ IUPAC
Chs S S 6 e 408 S _3¢2 2 A
OB Jiue S 362200 M _6¢4 -B
OS50S - 5 — i 2, —7¢766¢3 -C
S g e oy —6¢3:2:¢2-df)-4-D

CH,—CH,

OO0 w>»




12-

What is the correct structural formula for the following cycloalkane?

4-ethvl-2-methyl-1-propvlcvclohexane

- CHyCH,CH, P- CH;CH;, CH,CH,CH,
CH,
CH,
CH,CH,
B CH,CH,CH, ¢ CHiCH, CH,
CHyCH; CH,
CH,CH,CH,
13-
Which of the following is a property of alkanes? CULY! paleaid o bl g
A - all the alkanes bonds are polar A gl i g ) s - A
B B - Soluble in water oW A oldd . B
C - They forms hydrogen bonds among each other o lgaans (s A 0 ) (S5 < C
D - Have a low chemical reactivity Lalll g il . D
14- Why are alkenes more reactive than alkanes? CSUSY! e Slelis KT Y b 13U
A - Because the second covalentbond decreases the g y IV A4S JI 480 Ll Ay T
electron density between the doublebond carbons Al A I 0 K 30 oy
B B - Because the second covalent bondincreases the 5 JEN) A0 b 5 400 Apaald A oY - B

electron density between the double bond carbons
C - Because they are saturated hydrocarbons
D - Because the reactants cannot pull the electrons

away from the double bond

A A 1 5 S S8

sl Cug Sy Y - C

(g iy JEY) o i€ ¥ Alelind) 213d) Y- D
A Ayl e




15-

What explains the immiscibility of alkanes Colall a1 el UK AL ooyl 3 L
with water?
A-1,3only Py Lil3 41 -A
A Jsaidll Explanation Number 3
B-2,4only hilg 42 -B
i g Ja) ) JSE Yy dgtkai e SASTY) iy
C-1 only Alkanes molecules are nonpolar and do not form hydrogen bonds 1 ki ] -C
g pub S gy S8 g At SUSH) S .
D-4 only Alkanes molecules are polar and form hydrogen bonds 2 L 4-D
oLy ST o Gl (5 5 n 5 0 DI o o ) 5
The attraction forces between alkane molecules are stronger than the 3

attraction forces between the alkane and water molecules

phall g SISy i O tadl) (5 A (e el SSIVI U i O oitadll 5 6
The attraction forces between alkane molecules are weaker than the 4
attraction forces between the alkane and water molecules

16-
What is the name of the next compound, according to IUPAC rules?

a. 3,5,7-octatriene b. 2.4,6-octatriene
CH;:CH=CHCH=CHCH=CHCH;

¢. 1.2.3-octatriene d. 1.3.5-octatriene

17-) What is the name of the next compound, according to IUPAC rules?

a. 1-methyl-3,1-cyclopentadiene

b. 2-methyl-4,2-cyclopentadiene CH;

¢. 4-methyl-3,1-cyvclopentadiene

d. 4-methyl-4,2-cyclopentadiene




18- A

Which the following structural formulas shows the incorrect iaaall b adl dijle lgd el 0N AN jasall (6
numbering way according to IUPAC rules? ¢ (IUPAC) <l s
?H3 ?H3
A= CH3GH—CH=C =CH;, B- CH3CH=C—CH=CH;
e 3 4 5 5 4 3 2 1
e H3C=.. c A /CHs D- -CH;

19- b
What is the linear formula of the compound: 1.4-dimethylcyclohexene?

CH CH; , CH CH-
d ).
CH; CH:
C d.
CH: CH:

20- Which of the following does NOT exhibit geometric isomerism?
(a) 4-octene (b) 2-pentene

(c) 3-hexene (d) 2-hexene

(e) 1-hexene




